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[ CONDITIONAL ]

SENTENCES
CONDITION
condition possible to
fulfill

condition in theory

possible to fulfill

condition not possible to
fulfill (too late)




SSC CGL/CHSL TIER 2 (CRASH COURSE)
TYP IF-
cLause | MAIN CLAUSE

will-
future or (Modal
+ infinitive)

Simple
Present

Simple would +

Past infinitive *

Past would + have +
Perfect past participle *
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EXAMPLES (IF-
CLAUSE AT THE

BEGINNING)

TYPE IF CLAUSE | MAIN CLAUSE

. If | study, | will pass the
exam.
| would pass the
exam.
If | had | would have
studied, passed the exam.
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EXAMPLES (IF-
CLAUSE AT THE END)

TYP MAIN IF-
E CLAUSE | CLAUSE
. | will pass the |\ o o
exam
if

| would | studied
pass the exam

"~ [iwoudrave |
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EXAMPLES %
(AFFIRMATIVE AND

NEGATIVE
. EXAMPLES

short/contracted
forms

If | study, | will |If | study, I'll pass the

pass the exam. |exam.

If | study, | will
not fail the If | study, | won't
exam. fail the exam.
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EXAMPLES
(AFFIRMATIVE AND

NEGATIVE

If | studied,

| would If | studied, I'd
pass the pass the exam.
exam.

If | studied,

| would not

fail the If | studied,
exam. | wouldn't fail the
If | did not exam.
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EXAMPLES
(AFFIRMATIVE AND

NEGATIVE

If | had studied,
| would have
passed the
exam.

If | had studied,

| would not have
failed the exam.
If | had not
studied, | would

If I'd studied, I'd
have

passed the
exam.

If I'd studied,

| wouldn't have
failed the exam.
If | hadn't
studied, I'd
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Conditional
Sentences
(QUESTIONS ASKED

IN PREVIOUS YEAR
EXAM)
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1. If | were the Principal of the
college (1)/ | would have
never accepted (2)/ such
demands of the students. (3
NE (4) |

SOLUTION: Replace would
have never accepted by |
would never accept.
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2. If he had walked (1)/
fast enough (2)/ he will
get the bus. (3)/ NE (4)

@@8

SOLUTION: Replace will get by
Would have got.
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3. If | were you (1)/ | would
not have (2)/ committed
this blunder. (3)/ NE (4)

SOLUTION: Replace were by Had
been
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4. If he came to me (1)/ |
would have given (2)/ him
my car. (3)/ NE (4)

@@s@@ |

SOLUTION: Replace would have given
by Would give.
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5. We would also like to help
you (1) / If you intend to
execute (2) / such lofty plans
for the welfare of the societ x
(3) / NE (4) '

SOLUTION: Replace intend by
Intended.
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6. Had | realized (1) / your house
was such a long way off, (2) / |
would take a taxli. (3) / NE (4)

SOLUTION: Replace
would take by Would
have taken.
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/. Suppose she does not
come (1) / what could (2) /
we do? (3) / NE (4)

SOLUTION: Replace could by
Can.
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8. Were she |, (1)/ she will not
allow (2)/ you to go anywhere at
this time of crisis. (3)/ NE (4)

SOLUTION: Replace will by
Would.
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9. If both of you stood (1) /
on the desk (2) / it would
have broken. (3) / NE (4)

SOLUTION: Replace would
have broken by Would break.
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10. You can scale this high peak,
(1)/ provided you will wear (2)/ the
right kind of shoes. (3)/ NE (4)

SOLUTION: Remove Will from
second part .
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